EARAROBEEIERT — 2 N— IBISH —F

20125F4A9H (A) 1mEKR3A

Gl C 2 —# Y5 %—HK& (w8 | imEmml - |5 @) o s
[A&4£] 1 7% :100,000  ~ 23#&:20,000”  33%&:10,000 M  43#&:7,000H ~ 53 :3,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s . N LI ARER & :30. -1-1- . — REILES] (BXME
11810/ ¥ =2 gFhIT o4 53.0 1(:?)9 405 ! (4_266) %?%E‘}f:?
R:a=/x¥LLy b B:2avtIETL ¥ % & AERBS
N N I\RREZ :31. —-3-3- . — RINRE (KR)
olzlg|d—nzrou—-2 7 2_’5_0 1(33/14)0 3-3-3-2 | 40.1 3 (5_072) Erd
R:ZPOA—RTY—Y B:oU->TU—> FEYS
- S . Ad _ 1EERE (OKIR)
3 RyBATZhT4 e8RS (11'31'/233 A |02 2 :??) Al
:T7HAFALANE BiRyAAFTAT H—L— - T8> - Ty— LERE
o > LI AR : 55— — HHEBS (BRE)
4 R AL w2 210 | WA 1.(321).6 5-5-5-5 | 40.3 7 ;1_7; itk
RibhIHATAA— BTy INL— Al fE
Soa e > Ra BR AR 131, —6-7- . — 12 AR (KGR)
5 FATASL Ry > 6 ;5_0 1(321)9 6-6-7-6 | 40.4 1 (11513:) i 7
L:77V—r B:SATANYT BE =T
6 Y54 IR 7 ;g%%’ 1(:13/22.)0 2-2-2-4 |41.3| — | 9 | 49 @%i&— (KiR)
LY sO—-L B:¥vSe—O— (#8) FiEL NS
G Ry R 4 7 | ERRE 1:33.4 7-7-8-9 | 4.7 — 10 506 | WA (BERE)
7lglo| Ly KTy R 53.0 © (+5) | FEAX
LT N=HAL U= BG4y 7O Trts
— s . s = FHEERR :33. -9-6- . — ZHE® (KR)
8l5l5|=v /g5 7 o4 e 1(313)6 9-9-6-7 |41.9 6 (5:; %ﬂﬂ}%:t 3
L:77NTZT BZS/TX=) Gieflipae]
S . % i 5 | BEEE 1:33.8 8-7-9-8 |42.0| — 8 560 | iRt (EEM)
9l7l 7|7 v*—72L4 5.0 (3/4) © |EHE=ES
R:IZX Y+ BHANLY IR BLAHES
N S AFi8E :34. -9-10- . — FEER (KR)
100111 INTJ T NLA > i d 55.0 (11314/40) 10-6-10-10 | 42.0 ° (4_920) INEEE
R:gyTELRVF— B:42H/0UIy b Sitie)
® 1—F—@EBIERL
13—7+— 10,6,(2,8),4,3,9,7,5,1
230—7— |10,6,8,2,4,3,(7,9),(1,5)
== 10,6,8,2,4,5,3,9,7,1
43—+ — 10,8,2,6,4,3,5,7,9,1
[ /N
B 10 500 714K 8-10 450 e E 7-8 720M JEE 2-8-10 1,740H
B B 10 130H4 2-10 560M B = 8-10 1,1108 JEE 10-8-2 10,960
8 110 2-8 430M B H 10-8 2,010MH
2 1309

ABICOVWTRDTEEERROODE. TR LIV,




